
Problems Does the series converge? If so find the sum?

geometrias-er.es
⑨ É%-+-- ②

n=o It r+r2+Ñ+ . .
-
= ÷

µ if - I < r< I

= É
. Erm = Erm

n=( M=o

= Is 56¥ =tg(¥5 here

⑨ = -ÉoÉ(¥4T = tn?&(5,5
←
r= 5/64

= +8 ¥-4 ¥4 Anser series@ converges
with

sum 8159 .

= 'z•¥s=÷
518

⑤ ?É
,

"¥?=§=
,

f-¥j
- '
←
converses to

= It C- ¥)'t (-3-5)-+1 - ¥P+ . . .

←
here

r = - 31s

= ¥3s) =¥ = 518



-

③ £ (-3/5)^-1=518 geometries
n= ) cI I + r + r

'

+Pt - -
-
=

② I C- %-)"= ? ? Hit - i - ra

ao

n=4 zrn
- '
= É rm

eos but sum n= , m=o

may be different than⑤

② = C-%-)
"
+ ( -31515+(-3/5)'t - - -

⑤ = 1+(-3/5) + (-3155+1-38)
>
+t%-)_÷

II. an = aitaztazt ③ an
n=4

④ = (§g( -315T
"

) - ( (-3%-5+(-3/5)
'

+ (-3/55)
T T

-

T
n=2 n=3

n =\
term

term term

= Ig - ( I - ¥ + %-) = .
- .

⑨ ⇒ (-5/3)
" "

diverges , r=
-%

n=4 I -5131=5/3> I



geometries for r there r is a constant)

It rtr2+P+ . .
. = r

? -1

n= 1

This series diverges when 1471 , but converges

when Irl < 1 .

note : l means v21 or r -2
- l

l means - l - r - I

00

I 7
" "

diverges
,
r=7examines :

n= ,

§=
,

¥ converges ,
r= 47

+ Eat '
n=l



e×ampk_ : I
+ ,

converse or

diverge ?

\

Testfortivergne :

If Lim
→•
an -1-0 then Ian diverges.

limit as

an = "÷÷¥-
find

n→o

Lim 7h3- Zn +3 Yn3

n→a¥É-
= dim
→. :¥÷÷¥É

.= 7-0+02
12 - o +0 to

= 7/12 =L in an

a→*

It
0

so

The original series diverges lasingTest for Divergence / .

exam-pk-2.LI?.-n?IE?limn-..::::::::---e:=
.

→

So in this example the Test for Divergence is
inconclusive ( doesn't give any

information about

whether the series converges or not) - Later (in section II.4)
we'll be able to show it diverges .



cos / IT ) = -1 cos (1+13) = Yz

sin / IT/3) = Fs /z


